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Solve each of the inequalities below
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Solve each of the inequalities below
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(@) 6x+y=18
4x+y=14
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Solve the following simultaneous equations by using elimination.
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(b) 3x-3y=9
2x+y=12
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Solve the following simultaneous equations by using elimination.
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1. Solve

To find the answer/value of something

Use inverse operations on both sides of
the equation (balancing method) until you
find the value for the letter.

Solve2x —3=7

Add 3 on both sides
2x =10
Divide by 2 on both sides
x=5
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5. A set of two or more equations, each 2x+y=7
Simultaneous | involving two or more variables (letters).
Equations
‘The solutions to simultaneous equations
satisfy botl/all of the equations.
6. Solving 1. Balance the coefficients of one of the 5x+2y=9
Simultaneous | variables. 10x +3y =16
Equations (by | 2. Eliminate this variable by adding or Multiply the first equation by 2.
Elimination) | subtracting the equations (Same Sign
Subtract, Different Sign Add) 10x +4y = 18
3. Solve the linear equation you get using 10x +3y =16
the other variable. Same Sign Subtract (+10x on both)
4. Substitute the value you found back into y=2

one of the previous equations.
5. Solve the equation you get.
6. Check that the two values you get satisfy
both of the original equations.

Substitute y = 2 in to equation.

5x+2x2=9
5x+4=9

Solution: x = 1,y
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2. Inequality

An inequality says that two values are not
equal.

a # b means that a is not equal to b.

7#3

x#0

3. Inequality

x > 2 means X is greater than 2

State the integers that satisfy

symbols x < 3 means x is less than 3 —2<x<4.
x = 1 means x is greater than or equal to
1 -1,0,1,2,3,4
x < 6 means X is less than or equal to 6
4. Inequalities | Inequalities can be shown on a number line. ——
on a Number W =0
Line Open circles are used for numbers that are o =

less than or greater than (< or >)

Closed circles are used for numbers that
are less than or equal or greater than or
equal (< or =)

54324012345

&——O

x<2

54324012345

—5<x<4
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